ALGEBRA

CHAPTER 7

SECTION 4

NOTES
You start a typing service.  You buy a computer for $1750.  You charge $5.50 per page.  Expenses are $0.50 per page for ink, paper, electricity, and other expenses.  How many pages must you type to break even?

p = number of pages

M = amount of money
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So you will need to type 350 pages to break even.
A chemist has one solution that is 50% acid.  She has another that is 25% acid.  How many liter of each type should she combine to get 10 liters of 40% solution?

A = Liters of 50% solution

B = Liters of 25% solution
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Amount:         10

Strength:  .50.25.40(10)
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The chemist will need 4 liters of 25% solution and 6 liters of 50% solution
Suppose you combine ingots of 25% copper alloy and 50% copper alloy to create 40 kg of 45% copper alloy.  How much of each do you need?

A = number of ingots of 25%

B = number of ingots of 50%
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Amount:           40

Strength:    .25.50.45(40)
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You will need to combine 8 ingots of 25% alloy with 32 ingots of 50% alloy
Suppose it takes you 6.8 hours to fly 2860 miles from Miami to Seattle.  Your friend flies, at the same time, from Seattle to Miami.  Her flight only takes 5.6 hours.  Find the average airspeed and wind speed of the planes.
A = airspeed


W = wind speed

You are given the distance and time.  Use d = rt to solve.  Your speed (rate) is a combination of your airspeed and the wind speed.  You go faster when the wind is pushing you (+).  You go slower when you are fighting the wind (-)
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Since d = rt, then r = d/t

[image: image5.wmf]6.8()2860

420.6

6.86.8

5.6()2860

510.7

5.65.6

                                        

        2931.3

                                        

           465.7

Aw

Aw

Aw

Aw

A

A

-

=®®®-=

+

=®®®+=

=

=


Your airspeed is 465.7 mi/h, and the wind speed is 45 mi/h
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